Effectuer les calculs suivants :

A=(-3)+(-9)

B=72+(+119)

C=216-(-41)

D=-573-(+9,5)

E = -(-6,8)-(-5)

F=(-141)+6| 6=(-141)+(-6)  H=141+(-6) I=141-(-6) J = F+G+H+I

Effectuer les calculs suivants :

A=(-3)+(-9)

B=72+(+119)

C=216-(-41)

D=-57,3-(+9,5)

E = -(-6,8)-(-5)

F=(-141)+6 6=(-141)+(-6) | H=141+(-6) I=141-(-6) | J=F+G+H+I

Effectuer les calculs suivants :

A=(-3)+(-9)

B=7.2+(+119)

C=216-(-4.1)

D=-573-(+9,5)

E = -(-6,8)-(-5)

Fz=(-14,1)+6

G = (-14,1) + (-6)

H= 141+ (-6)

I=141-(-6)

T = F+G+H-T




